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1 Which of the following is not an equivalence relation on Z?
(@) aRb<>a+ bisaneveninteger () aRb<>a-bisaneveninteger
(©) aRbe=a<b (d) aRbea=b
2 The relation ‘R”in N x N such that (g, b) R(c,d) = a+d=b+cis
(@) reflexive but not symmetric (b) reflexive and transitive but not symmetric
(¢) anequivalence relation (d) None of these
3 Let f(x) = [x] and g(x) = x — [x], then which of the following functions is the zero function?
(@ (f+g) () ®) (f2)(x) © (f-gx) (d) fog (x)
4 R is a relation on the set Z of integers and it is given by (x,y)e R<> |x~yl<1.ThenRis
(a) reflexive and transitive (b) reflexive and symmetric
(c) symmetric and transitive (d) anequivalence relation.
5 Let R be the relation on the set A = {1, 2, 3, 4} given by R = {(1, 2), (2, 2), (1, 1), (4, 4), (1, 3),
(3,3),(3,2)}. Then,
(a) Risreflexive and symmetric but not transitive.
(b) Risreflexive and transitive but not symmetric.
(¢) Rissymmetric and transitive but not reflexive.
(d) Risan equivalence relation.
6 Letf(x) = X’ and g(x) = Jx , then
(@) (gof)(x)=Ix| forallxe R (b) (fog)(x)=xforallxe R
(©) (fog)(x)=(gof)(x) forallxe R (d) None of these
7 Let R be the relation defined on the set N of natural numbers by the rule the x Ry iff x + 2y =8,
then domain of R is
(@) {2,4,8} () 12,4,6} © 1{2,4,6,8 d {1,2,3,4}
8 LetR={(a,a),(b,b),(c,c),(a,b) bearelationonset A = |a, b, c}. Then, R is
(@) identity relation (b) reflexive
(c) symmetric (d) antisymmetric
9 IfA=11,2,3},B={1,4,6,9}and Risa relation from A to B defined by “x" is greater than ‘y’. The
range of R is
(@) {1,4,6,9} (L) {4,6,9) (© (1) (d) None of these
10 | Therelation R = {(1,1),(2,2),(3,3)] on theset {1, 2, 3} is

(a) symmetric only (b) reflexive only
(¢) anequivalence relation (d) transitive only
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11 | Let A be a finite set containing n elements. The number of one-one functions that can be
defined from A to Bis

(@) 2" o) n" © 2 @ n

12 | LetA={1,2,3}and R={(1,1),(2,2),(1,2),(2,1),(1,3)} then R is
(a) reflexive (b) symmetric (c) transitive (d) None of these

13 | LetA={1,2,3}. Which of the following functions on A is invertible ?
(@ f=1(1,1),(2,1),(3,1)) b f=1(1,2),(2,3),(3,1)}
© f=1(1,2),(2,3),(3,2)} d) f=1(1,1),(2,2),(3, 1)}

14 If Ris relation on the set A ={1,2, 3} givenby R={(1, 1), (2,2), (3, 3)}, then R is
(a) reflexive (b) symmetric () transitive (d) all the three options

15 | Letf: R—R be defined by the rule f(x) =¥’ ~3x + 4 forallxe R, thenf™ (2)is equal to
(@ (1,2) B 11,2] © 11,2} (d) None of these

16 Let R be a relation on N defined by x + 2y = 8. The domain of R is
(@) {2,4,8} (b) 12,4,6,8} © {2,4,6} (d 1{1,2,3,4}

17 | LetA={1,2,3}and B = {2, 3, 4}, then which of the following is a function from A to B?
@ 1(1,2),(1,3),(2,3),(3,3) (b) 1(1,3),(2,4))
(© 1(1,3),(2,3),(3,3)} (DIi(1,2),(2,3),(3,4),(3,2)).

18 | Let A={1,2,3}. Then, the number of equivalence relations containing (1, 2) is

(a) 1 » 2 © 3 d 4
ANSWEers
1 A 6 A 11 D 16 C
2 C 7 B 12 D 17 C
3 D 8 B 13 B 18 B
4 B 9 C 14 D
5 B 10 C 15 C
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